Assembly Instructions For The Poly Classic Rocker
Tools Needed For Assembly Parts List Hard

Hardware
7/16™ Wrench Seat Assembly (1) 1/4™ x 3-1/2" Carriage Bolts (4)
7/16™ Socket Back Assembly (1) 1/4” x 2-3/4” Carriage Bolts (2)
Screwgun Right Arm & Leg Assembly (I) 1/4” x 2™ Carriage Bolts (4)
#2 Square Drive Bit Left Arm & Leg Assembly (1) 1/4 Flange Nuts (10)
Rockers (2) 2-1/2" Screws (4%

Step 1 Place the seat assembly on edge with the front slat facing down. Put the arm & leg

‘ , assemblies on each side. (The curved side on the arm belongs on the outside). Align

the holes in the legs with the holes in the side of the seat assembly. Insert the 3-1/2"

bolts through the legs, in through the seat assembly, & put flange nuts on the inside.
Semii-tighten onily, do not fally tighten uintil the back is attached.

Step 2 Set the chair upright and place the back assembly between the anms. Align the holes
in the back of the arms with the holes in the side of the back assembly. Fasten with
the two 2-3/4” bolts and two flange nuts. Now attach the bottom of the back
assembly to the back of the seat with the four 2-1/2" screws in the predrilled holes.
Thematenopmhlledholwneededmtbebackofﬂleseatassctewsateself

Step 3 Attach the rockers to the bottom of the legs with four 2” bolts. Put flange nuts on
the inside and tighten all nuts with the wrench or socket.






